dopmynbl Tenopa B OKPECTHOCTU HYNA

2 3 n
X

e =l xS+

2! 3! n!

X3 5 in—l
shx=x+—+—+...+ + ...

3! 5! (2n—-1)!

2 4 2n
chx=1+x—+x—+‘..+ X +...

21 4! (2n)!

3 5 2n-1
SIN X = X — 4 ot (—1)" — +

3! 5! (2n-1)!

2 i 2n-2
CosX=1— X o (=)

21 4] (2n—2)!
(1+x)" =1+%x+ m(”;_l) X+ m(m—;)l(m—Z) x>+

1 , -
— =1-x+X =X+ (DT X+

1+ x
X2 X3 - Xn
In(l+x)=x——+——...+(-1)" —+...
2 3 n
3 D 2n-1
arctgx = )«f—X—+X——...+(—1)""1 X + ...
3 5 (2n—-1)

. 1x* 1.3 x 1.35%x
arcsin X = X+ = —+ = T +
23 2°215 2731 7

1 3 5 2n—2 2n-1
gx=x+-x+—x +..+——mx +
3 15 (2n—-1)!



